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5 Which of the following would be regarded as an item of capital expenditure for a
motor vehicle business?
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purchase of a car for resale
purchase of equipment for use in the business
repair and redecoration of business premises

road tax and insurance payments for delivery van

(Total for Question 5 = 1 mark)

6 In a partnership drawings will be debited to which account?
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appropriation
bank
capital

current

(Total for Question 6 = 1 mark)

7 In non-profit making organisations, which one of the following is the equivalent of a
profit and loss account?
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income and expenditure account
receipts and payments account
statement of affairs

subscriptions account

(Total for Question 7 = 1 mark)

8 Asocial club has received subscriptions totalling £1 040 during the year, of which £80
was received in advance. At the end of the year £120 was outstanding. Which amount
for subscriptions should be included in the income and expenditure account?
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£960

£1 000
£1 040
£1 080

(Total for Question 8 = 1 mark)
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(b) Prepare the sales ledger and purchases ledger control accounts for the month
of December 2013. Balance the accounts on 31 December 2013 and bring the
balances down on 1 January 2014.

Sales Ledger Control Account

Date Narrative Amount (£) Date Narrative Amount (£)

Purchases Ledger Control Account

Date Narrative Amount (£) Date Narrative Amount (£)
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(Total for Question 11 = 25 marks)
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(@) Prepare the balance sheet for C Shaw as at 30 November 2013.
(12)

C Shaw
Balance Sheet
as at 30 November 2013

(b) Calculate the working capital (current) ratio. State clearly the formula used.
(3)

Formula Working capital ratio

. J
11
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(c) Evaluate the working capital (current) ratio, stating whether C Shaw will be
satisfied with this figure.

(Total for Question 12 = 20 marks)
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13 The following information was extracted from the books of Ajit Manufacturing on
31 March 2014.

1 April 2013 31 March 2014

Stocks:
Raw materials £26 000 £31 000
Work in progress £15 000 £12 000
Finished goods £186 000 £217 500
For the year ended 31 March 2014
Purchases of raw materials £134 000
Carriage inwards £1 000

Factory wages:

Direct £70 000
Indirect £22 000

(a) Explain the difference between direct and indirect factory wages.
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On 31 March 2014 Ajit's Manufacturing’s trial balance failed to agree and the
difference was entered into a suspense account. The following errors and omissions
were later discovered.

1 Aninvoice from a supplier for £500 had not been entered in the books.

2 Stock valued at £360, taken by Ajit, had been debited to both the drawings
account and the purchases account.

3 Asale of goods, £245, had been entered correctly in the bank account but no
other entries had been made.

4 The total of discount received, £68, recorded correctly in the cash book, had been
debited to discount allowed.

(c) Complete the following table to show the necessary entries to correct these errors

and omissions.

Errors/ Account(s) to be Amount (£) Account(s) to be Amount (£)
omissions debited credited

1

2

(Total for Question 13 = 16 marks)
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14 The following account appeared in the ledger of Rekha, a bookseller.

Insurance Account
Date Narrative Amount (£)  Date Narrative Amount (£)
Oct 12 | Cash book 3300 | Oct 1 Balance b/d 678
Oct 12 | Discount 200 | Oct 31 | Profit and loss 2393
Oct 31 | Balance c/d 429
3500 3500

(@) Explain each entry in the above account stating clearly where the other part of
the double entry for each transaction would have been made. The first row has
been completed for you.

Date Transaction Narrative Double Entry
Oct1 | Balance b/d The value of insurance accrued/ | Debit side of
owing at the end of the previous | the insurance
period account

Oct 12 | Cash book
Oct 12 | Discount
Oct 31 | Profit and loss

Oct 31 | Balance c/d
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Rekha is considering investing in a computerised accounting package.

(b) (i) Evaluate the advantages of this proposal.

(Total for Question 14 = 18 marks)

17



Summer 2014 www.mystudybro.com Accounting Paper 1
e Past Paper This resource was created and owned by Pearson Edexcel 4ACO

15 Barat, a trader, is experiencing late payments from debtors.

(@) Explain two ways in which he can encourage his debtors to pay their accounts
on time.

Barat maintains a provision for doubtful debts of 5% of debtors. His debtors
amounted to £35 000 on 1 April 2013 and £40 000 on 31 March 2014.

(b) Prepare the provision for doubtful debts account for the year ended 31 March 2014.
Balance the account at that date and bring the balance down on 1 April 2014.

Provision for doubtful debts account

Date Narrative Amount (£) Date Narrative Amount (£)
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(c) Explain the effect on the net profit for the year ended 31 March 2014 if Barat’s
debtors had decreased and his provision for doubtful debts was maintained at 5%.

(Total for Question 15 = 11 marks)

TOTAL FOR SECTION B =90 MARKS
TOTAL FOR PAPER = 100 MARKS
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